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Figure 2.3 
Phase diagram for the behavior of the saving rate Gin the Cobb-Douglas case). In the Cobb-Douglas case, the 
savings rate behaves monotonically. Panel a shows the phase diagram for ê/9 and k when the parameters are such 
that (8 +p +0x)/0 > a (x+n+8). Since the stable arm is upward sloping, the consumption ratio increases as 
the economy grows toward the steady state. Hence, in this case, the saving rate (one minus the consumption rate)
declines monotonically duringthe transition. Panel b considers the case in which (8 + p + ex)/0 <a (x+n+8). 
The stable arm is now downward sloping and, therefore, the saving rate increases monotonically during the 
transition. Panel c considers the case (8 + p +0x)/0 + a (x +n +8). The stable arm is now horizonal, which
means that the saving rate is constant during the transition. 

is more likely to rise during the transition. This result follows because a higher 6 weakens

the substitution effect from the interest rate. 

In the particular case where = 0, the saving rate is constant at its steady-state value,

s=1/0, during the transition. For this combination of parameters, it turns out that the 

wealth and substitution effects cancel out, so that the saving rate remains constant as the 

capital stock grows toward its steady state. Thus, the constant saving rate in the Solow- 

Swan model is a special case of the Ramsey model. However, even in this case, there is 

an important difference from the Solow-Swan model. The level of s in the Ramsey model

is dictated by the underlying parameters and cannot be chosen arbitrarily. In particular, an 

arbitrary choice of s in the Solow-Swan model may generate results that are dynamically

inefficient ifs leads the economy to a steady-state capital stock that is larger than the golden 

rule. This outcome is impossible in the Ramsey model. 

In a later discussion, we use the baseline valuesp=0.02 per year, 8 = 0.05 per year,
n= 0.01 per year, and x = 0.02 per year. If we also assume a conventional capital share of 

a = 0.3, the value of 6 that generates a constant saving rate is 17; that is, s* < 1/0 applies

and the saving rate falls-counterfactually-as the economy develops unless exceeds this 

high value.
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